B ABUEEICRE 59
12 S (B9 %3
- 4 a B X OB K E%%Rﬂ%émlz%ﬁgﬁ
7 | mHUTAER " ER TR | fF % | mRDUTER
5t BT = BT HT =L T
gﬁl Tl VR R A X
Kz » ft
B8 i e 05 90 2
fé ke ) i 52 9,541 50 9,123 3,649
o IEMPHIEE 13 DBUE D
4 a2 T D95
I |[IEA 180 A ITHEE2 5 M
T BEEX
& s 3,649
13 FHICEEI HER
X 5y FERAE BSR4 AERE (T 1)
BTN T DD (16,500M9) 77 1,270
HEMTRIZES2: D25 1IHHIZRE Y 35b 0 (16,500/%1/2) 33 271
TEMTRIZE 32D 252 IHIZR% Y 3 5H 0 (16,500/%1/2) 268 2,198
F2T TS T b0 (11,000M9) 6 66
BRI 325D 285 1T 97260 (11,000/%1/2) 0 0
TEMTRIZE32: D252 HIZR% Y 3550 (11,000/9%1/2) 32 176
B3N THHD ( 8,200H) 132 1,083
o HEMTRIZE32:D 25 1IHIZRE Y 3250 (8,200/%1/2) 72 295
. 4 IETRIEE 325D 255 2T 5% 24500 (8,200/9%1/2) 418 1,714
- FAFITRE YT HHO ( 5,500F7) 4 22
e EMRIEE 3240 25 1IHIC3% 4 3250 (5,500/9%1/2) 2 5
N BRI 328 D2 BTG T 50 (5,500/1%1/2) 21 57
B EilsRcatery S i YO ( 5,500M) 9 49
% A 325D 2 1T 550 (5,500/%1/2) 0 0
2 HEMRIZE324:D 25 2IHIZR% Y 3560 (5,500/%1/2) 34 92
kD RBLSR R BRI 324 B 1 HICRL M 3750 47
T ARSI TEMTI #3254 55 2TEICRE 2§D D 0
. 7N it 1,155 7,298
- (4,100M9)
. (2,700M)
g FUBCHNTSL0  (2,000)
(1,300M)
# (1,300M)
= (12,300M)
TH (8,20014)
BB Y T LD (6,100119)
(4,100M9)
(4,100M)
/N 2
& i 1,155 7,298




